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A:-What do you take for breakfast?
B:-What did you take for breakfast?
C:-What have you taken for breakfast?
D:-What had you taken for breakfast?
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Question68:-The reporter exclaimed sadly that many lives had been lost due to
boat accident. (Choose the appropriate Direct Speech sentence of it.)

A:-The reporter said, "Alas! Many lives has been lost due to boat accident.”
B:-The reporter said, "Alas! Many lives have been lost due to boat accident.”
C:-The reporter said, "Alas! Many lives was lost due to boat accident."”

D:-The reporter said, "Alas! Many lives are lost due to boat accident."
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B:-is overtaking, met

C:-was overtaking, had met

D:-had overtaken, met
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D:-don't you?
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A:-mgw o BRCTOIAT
B:-80@0ri00 By,0emQ BoITo
C:-306E0N0d000 RS BREIFY
D:-30@0n00 59303008 200530

Correct Answer:- Option-A

Question79:-e9§ &a%da BN OB WNIR030WITRHY - BNT YT abéﬁé%dﬁ 200359N BHROTOR
eaz;stgm 392,0.

A:-3353 30000
B:-Bnex &S0aEd

C:-J593 =096
D:-8608 3c0x

Correct Answer:- Option-B
Question80:-'9 B’ - Y FoBRITIS IZTR 03T0RYRO?

A:-30350 F300%
o

B:-gog FIVODR

c:-aam RRBIR



D:-908 530507

Correct Answer:- Option-C

Question81:-3In¢ B F0° 1} 302)0B2B03 88 FINT 03503 BeYEneh 300dIN:S?
(i) VROT WQONRYOB eVoE3NnIS 2303,

(i) RBOR Secmndd) w3od

(iii) BSOS BIneodnt 230803 wzma0d

A:-(i) 203 (ii)

B:-(iii) 3508

C:-(i) I8

D:-a3)i¥e) odoold@e Q)

Correct Answer:- Option-B

Question82:-B®E, 30w 0PAF0I B FINE 030es3 BePILL FO03TN3

(i) BBRD) FBREBIOFT® Tm0300T 30300350NS

(i) THID) Tome0dONT §0303NG0, YWTY BFOF) BHEITURHT Z92) B0 s dorid
RI0BEV 003 CLRIZT

(iil) BBV IS TBITO SF B0 BFWIFA o%:ié’odo 3008 9Z©00IHNCOZT

A:-(ii) o2 (iii)

B:-(i) =03 (ii)

C:-(ii) S598,

D:-230ed8 a0 (i), (ii), (iii)

Correct Answer:- Option-D

Question83:-2j0d0d FoBPFBY , BVDINITHE YOFIT FABROT BPWRTRID IrBIHITOI
ST 250500051 VDR HFRBF) FBLUIZE

A:-éJac,Saon"' (Smoothering)
B:-mudes‘éa"' (Starvation)
C:-ged9or¢ (Cooling)
D:-80cdR odvoidse g

Correct Answer:- Option-A

Question84:- ool eUSA30DY 0T BAIEAFITITT B T3/ 00
BT, ONZD0S T FoHL0T

A:-q—%os So000e3¢ (Fire point)



B:-@e?‘ Ho00e3* (Flash point)
C:-B®d som=09® (Ignition temperature)
D:-2060x3 mzé (Range of flamabiity)

Correct Answer:- Option-B
Question85:-2,08> 03 edes* B8 SFIT SaRTSFH 1°C 1 Bednen ongaed o)

A:-209 m:n?r (Heat Capacity)

B:-30%36 20 o (Latent heat for fusion)
C:-e30300n0%0d 203 B (Latent heat of vapourization)
D:-&BF§ 2RE)) mmgr (spefic heat capacity)

Correct Answer:- Option-D

Question86:-3¥NIJ)NFY 0dre)30 @Qaamﬁf%ﬂ WYPROS 280 ToR0030NT w°BO° (dcp) 8¢
Fe3500830NQ)?

A:-30eB0300 2o £ Seest
B:-8392000:85° 39¢3
C:-g:}8 5@29001)0 qva§eés‘
D:-3ox0® 3@}’&3‘

Correct Answer:- Option-D

Question87:-eNzemiEsoN Towed® &) 633° O[T WHRS T0NYY S FYNT 0duess
BELTNLD YY

(i) 2503 ooy
(i) evEsEsRned oFm SHrved B0 AREBOY
(iii) 306 werBe) FOFHRITHOCIIN WHRIBIE

A:-(iii) S998,
B:-(ii) =58,
C:-(i) R98,
D:-(i) &3 (ii)
Correct Answer:- Option-A
Question88:-3NTIHNYY 0drex3B0 MSDSE 5003006 Bfeos CuamoNts?
A:-Roe3cD030ef 2¢Ee3° Wokso Bees® (Material Secret Data Sheet)

B:-B083eD0d0e° Jeqs Betsd z,gw (Material Safety Data System)



C:-g=009 d$§ 33903 ?dé" (Major Secret Data System )
D:-370 200g3 Beeso 8ees® (Material Safety Data Sheet)

Correct Answer:- Option-D

Question89:-8s 3YNIIH)NYY 03030 odaoﬁdé,ics“ mzpaie)s ©0200f (UN.No.) e‘)g%cs‘
Se3gedodo Mgt (LPG) 18 dedennd

A:-UN.No. 1075
B:-UN.No. 1017
C:-UN.No. 1005
D:-U.N. No.1831
Correct Answer:- Option-A
Question90:-3¥NIIHNYY 0drec)80 CPR & 3003506 Zfogf TxaNGS?

A:-5Rca3ne 58658 6?3066556 (Cardio Pulmonary Respiration)
B:-sac03nc agaa @aidoz’%ﬂeda (Cardio Pulmonary Resuscitation)
C:-5o8¢ 03505° 5%@308 o—-’gc‘\idozﬁzgdai (Cardiac Pulmology Resyscitation)
D:-5oRs0dne 5%3&308 ev209e3 (Cardio Pulmonology respiration)

Correct Answer:- Option-B

Question91:-359&%3 30@5@&5 52008 2000 (Information Technology Act 2000) © ﬁyp‘i 65
FAS) gé&@&gd

A:-Eazﬁons

B:-2seend &% (Impersonation)

C:-ﬁoo—-’g;%kdo‘ RO TDSNRLHORN ICRDBRAYIIIE
D:-::baéoéobﬁb TR0 HPODT &0H0

Correct Answer:- Option-C

Question92:-350&3 308250% 5203 (Information Technology Act 2000) 2000 G ©&03®)
ﬁa%ﬁ’é’odo VQOFPRMN éﬁo&@a 8% YN 03003 NYPnnye) gd%@ﬁmﬂd

A:-Qen 66 B
B:-2on 66 A
C:-Qdyon 67

D:-dyn 67 D

Correct Answer:- Option-B



Question93:-Ax3)/ ¥R Fe3R F0R I NYY 23073 W IBZONY NN 33 S0 esrﬁrg’:)dos
zsaai’vob E3R0R 30 SINCETOR WFLINIIYEBO

A:-g@y0doeezs® (Driage)
B:-deges (Observation)
C:-8 3= 2333 (First Aid)
D:-zs%a;(Therapy)

Correct Answer:- Option-A
Question94:-3¥NIJ)N¥YD 03se3)30 AED 030 300300 oo CuaseoN

A:-gcﬁoomc‘bs m§ o3 (Automated Exterior Device)

B:-30000w5293 1% Bag)deeso® (Automatic External Defibrillator)
C:-gojoomés m§ B Seeso® (Automated External Defibrillator)
D:-goobome‘)s 303oF BPSee3o® (Automatic Emergency Defibrillator)

Correct Answer:- Option-C

Question95:-d§@35§b 038RV IFNT 0309s3 eaaz;mamgo (R E ANV AR LHVAN
20nedRePnOI3N

(i) 3%3(03% 9B PRS00  (Brachial artery)

(ii) 30803V BP0 (Femoral artery)

(iii) mo—-"&ésef RPN (Popliteal artery)

A:-(i) &0 (iii)

B:-(ii) 03> (iii)

C:-B0ed oo (i), (ii), (iii)
D:-(i) 03> (ii)

Correct Answer:- Option-C

Question96:-3¥NTI)NYY 03503130 Sowed BB D0 ©FesssoNts
(i) eona a;ﬁﬂs's woORdeodod 65\

(ii) oSN Q0IDAIBTIN TR0 BINBORYBO

(iii) Sowegady 30338 FWeBRY Seez) o ema35§b LINSIAMES ) A S

A:-(i) 303 (iii)

B:-0eds aeo (i), (ii), (iii)
C:-(ii) 03 (iii)

D:-(ii) I3,



Correct Answer:- Option-B

Question97:-z0t3 MeadoNnYr ABUNIS BFR0 23330308 88 FYNTI)rT'Y 0B ABSY
(i) oY S deésgo A0 AeOV0E 3090200

(iw =8> BB 80083, mﬁq—-é\o QCBY VeR

(iii)méasmoi)éé £90638,00B0COS 0300:3)T3¢ zoé%dodogb W OZ[0359N IrBOHOS

A:-(ii) S508
B:-(i) S5o8
C:-(iii) S508,
D:-(i) 03 (ii)
Correct Answer:- Option-C
Question98:-83 IYNIIH)NYSD od.mwjﬁﬁb ST ?3833” 3¢3° B¢ KedResd?
(i) ©89, oyo* %ﬁdﬁomﬂb
(i) 33T maodczse 2RO
(ii1) APCOBOINZITT, TNWPTD

Ac-(ii) 203 (iii)

B:-(i) S0 (iii)

C:-(i) 03 (i)

D:-0ed3 2o (i), (ii), (iii)

Correct Answer:- Option-D

Question99:-xo) m%dd 030 ?éﬁ VBT B F0 zaag,omg 8% FFNTJ)NFY 0300330
x0035NY

(i) @3g mﬁwab BB 0B 53&3803 FY1 202

(ii) :)o@oobo&»&)@ﬁ QACBOR Jae)waSab BRORTIS 33378 Sgeosde SWoO

(iii) o) &363 mridab 3302 dﬁdab Mdmﬁ)@do

A:-(iii) <093,
B:-(i) 3598,
C:-(i) R (ii)
D:-(ii) =098
Correct Answer:- Option-A
Question100:-z7208¢03> S&° Fa° 20%;t3 (IRCS) 03 IRFBY 02333 200307

A:-1947
B:-1942
C:-1920



D:-1950
Correct Answer:- Option-C



